GUTZOLD KG

Marienthaler Strafie 7

08060 Zwickau

Tel. Kundendienst:0375/58959-15
Tel.Verkauf: 0375/58959-13
Fax: 0375/25007

Ersatzteilliste 27502 (BR 86 DB, Ep. Ill) .....

' (GUTZO0LD) |

EISENBAHNMODELLBAU

Pos. |Bestell- Ersatzteil- Pr:
Nr. |Nr. bezeichnung Gr.
1 [ 506010014 |Gehause 19
2 | 041113601 |Stiitze
3 139151514 | Schraube M 2x14 2
4 1001095001 |Puffer flach 2
5 1001095002 (Puffer gewolbt ’.
6 | 006130006 |Motor komplett 17
7 | 005082503 |Motageplatte 13
8 139154001 |Mutter M 2 2
9 | 011077002 |Mutterhalter 4
10 139151508  |Schraube M 2x8 2
I1 | 005022502 |[Motorhalter 6
12 | 015105901 |Lampenplatte 9
13 | 005079001 |Vorbau 11
14 | 013050502 |Zylinder links 7
15 | 013050002 |Zylinder rechts 7
16 | 006020005 |Fahrwerk 19
17 | 005047009 |Radsatz 8
18 | 005047011 |Radsatz mit
Haftreifen 9
19 | 005047012 |Radsatz 8
20 | 005045005 |Vorlaufer 10
21 | 005045501 |Nachlaufer 10
22 | 107119101 |Vorlauferfeder 5
23 | 043033504 |Bodenplatte 8
24 | 139164501 |Unterlegscheibe 2
25 | 139151506 |Schraube M 2x6 2
26 | 051062501 |Gegenkurbel 2
27 | 051063501 |Kurbelbolzen 2
28 | 041053001 |Gleitbahnhalter
links 5
041052501 |Gleitbahnhalter
rechts 5
30 | 005050106 |Steuerung komplett | 16
018041301 |Haftreifen 2
118028003 |Gewicht 9




